April 20, 1967 : Bulletin 67-7P
: MOUNTING INSTRUCTIONS FOR CD464
COMBINATION LUGGAGE RACK/SEAT RAIL
1967 "B" & "C" Range Machines

Hardware

R.H. Rear Support Bracket

L.H, Rear Support Bracket

1/4-28 1% Hex Head Cap Screw
1/4-28 % Hex Head Cap Screw

1/4 Lockwasher

1/4-28 Hex Nuts

1/4 x 3/4 0D x 5/8 length Spacer

BB BN

' Remove F5424 lifting handle and install F7850 lifting handle, do not install the
two fender bolts in lifting handle at this time, Assemble R,E. and L.H, rear
support brackets to rear holes in side plates of luggage rack using the two 1/4-28
x 1/2 hex head cap screws, two 1/4-28 nuts and two 1/4 lockwashers. Mount luggage
rack to frame by attaching side rails to the holes in the frame just in front of
top shock mounts with the two 1/4-28 x 1% hex head cap screws, two 1/4 hex nuts,
two lockwashers and two 1/4 x 3/4 0D x 5/8 length spacers. The 1/4 x 3/4 spacers
are placed between the side rails of the luggage rack and the motorcycle frame,
Attach the two rear brackets to the F7850 1ifting handle,

NOTE: When fitting saddlebags to this carrier CD466/B Bracket Set must be used
for “B" Range and CD466/C Bracket Set for "C" Range machine.

MOUNTING INSTRUCTIONS FOR CD466B AND CD466C
SADDLE BAG MOUNTS

"B" Range

Attach lower front to muffler bolt. Attach upper rear to rear hole in side
plate of luggage rack.

“C " Ran Ee

Attach lower front by pillion footrest bolt. Attach upper rear to rear hole
in side plate of luggage rack, '




